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Q1: Simplify the following indices leaving them in index form.                                               (3) 

(Law 1: Addition      𝑥𝑎×𝑥𝑏 =  𝑥𝑎+𝑏)  

       1)3𝑞2× 2𝑞5                               2) 3𝑝2 × 4𝑝−5                      3) 5𝑎3 × 2𝑏2 × 2𝑎2 

Q2: Simplify the following indices leaving them in index form.                                                             (3) 

(Law 2: Subtraction     𝑥𝑎 ÷ 𝑥𝑏  =  𝑥𝑎−𝑏) 

1) 𝑑8 ÷ 𝑑3        2) 
4𝑎3   × 𝑎8

𝑎4  

Q3: Express the following in Ordinary Notation and Standard Form respectively:                   (3) 

a) 3.5×𝟏𝟎𝟒 + 𝟒. 𝟓 × 𝟏𝟎𝟓 

b) 4.67×𝟏𝟎𝟑 

c) 3769000 

Q4: Expand each of the followings:                                                                                            (6) 

a) -6(-3x +3𝑦)(6x – 6y) 

b) (4x – 3)(2x -5) 

c) (4x – 3)(2x -5) 
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Q1: Where possible find the value of the following in 𝑓𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑎𝑙 form.                                              (2) 

(Law 3: Negative        𝑥−2 = 
1

𝑥𝑎
  ) 

1) 
4𝑝−2        × 5𝑝−3

10𝑝2            2) 53 ×  55 

Q2: Simplify the following in index form:                                                                                               (3) 

(Law 4: Zero              𝑥0 = 1) 

1) 80                            2) 
6𝑑3    × 8𝑑4

3𝑑2 × 4𝑑5   

Q3: Simplify the following in index form:                                                                                               (2) 

(Law 5: Multiplication   (𝑥𝑎  )   =  𝑥𝑎×𝑏   

1) (𝑎2 ) (𝑎3)7 (𝑎3 )    

Q3: Express the following in Ordinary Notation and Standard Form respectively:                    (3) 

a) (8.64× 1010) ÷ (3.6×106) 

b) 33.0006 

c) 3769000 

Q4: Expand each of the followings:                                                                                             (6) 

a) 3(2x +7𝑦)(2𝑥 − 7𝑦) 

d) -6(-3x +3𝑦)(6x – 6y) 

e) (4x – 3)(2x -5) 

 


